basic_constrained

A basic example where the upper and lower level programs are totally unlinked.
The unique global optimum is found at x = [1,0,3,—4] and y = [1,0, 3, —4].

minimise z7 + 23 + 23 + 23
T,y
subject to =1 > 1,
Z2 Z _27
z3 =3,
Ty = —4,
Yt + 3 + 3 + i,
U1 Z 17
y € argmin < ys > —2,
Y Ys = 35
Ys = _47
Dimension Type
e b'e variables 4 real
%,j F(x,y) objective 1 quadratic
g G(x,y) inequality 2 bounds
:% H(x,y) equality 2 linear
T>> y variables 4 real
i: f(x,y)  objective 1 quadratic
£ glxy) inequality 2 bounds
S h(xy) equality 2 linear




